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PAPER CODE 2016 (S) A

NUMBER: 5195 SSC PART-l (9th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-| by - sl (o Sy
TIME ALLOWED: 20 Minutes OBJECTIVE u‘%ﬂy 220 =y
MAXIMUM MARKS: 15 15= AF

A L ):Lﬁfb,.'éis'?g}f'J:/ﬁ...._..Lo?c;/u.::..u:u:flJzéJ&vidlr;{QKQiﬁ «u;:é.{_; DsCB:A ».:«I_.f:?.'r'?;.lgﬁJ!y’/; wdd
J J@Jg_l,)g,ﬁf{‘ﬁ:@f;xﬂp@./’::é Bubbles ..gmr;’blﬁ..:.flﬁuﬁwaxy“u(i_/g Jok L L/Ju’}b#)&jﬁuug g

Note: You have four choices for each objective type question as A, B, C and D. -g:’::-d’fqaﬂfr,;.g{.ﬁr

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will resuit in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Point (5,-2) liesin_____ quadrant. Mkl (5= B (1)
(A) | (8) I (©) 1l (D) IV

(2) Distance between the points (1,2) , (0, 3) is:- < debgenl (0.3) < (L,2) 6 (2)
(A) V2 (B) 3 € 3 (D) 32

(3) If two angles of a triangle are congruent, then the sides -.-J.{Z.ﬁamfn_ij?LU;;UEJ&G‘Z“..JU!JL&&J% (3)

opposite to themare:-  (A)Equal 4z  (B) Congruent J&LP‘ (C) Similar L& (D) Parallel Ji1#
(4) Diagonal of a parallelogram divides the parallelogram into - t/EUE? _ we s liiffe gz @)

two ___ ftriangles.
(A) Acute Angled .s/15sk  (B) Right Angled .s./1245  (C) Congruent J1* (D) Isosceles w#LiHls

(5) The symbol used for Paralielogram is:- -c‘:.JﬁJnyngJ_LCWUU}l? (5)
(A) | (B) II”" (C) I (D) I

(6) Ifthe length and width of a rectangle are @ and & Gk b Qi o ST ()

thenareawillbe- (A)a+b (B) a-b (C)axb Dya=+b

(7) The right bisectors of the three sides of a triangle are:- ,@Lﬁdﬂtd:/ﬁawufﬁw (7
(A) Concurrent ,Edff (B) Collinear £/t (C) Congruent Jﬁu‘f‘ ) (D) Parallel ($)1#

(8) Medians of a Triangle cut each other in ratio:- 928 () O S nkigbslals  (8)
(A) 4:1 (B) 3:1 (C) 2:1 (D) 1:1

(©) If |2 S| _omuthen x isetudto- iz x M ‘ R A

B o C o . -

(A) 9 (B) -6 ()6 (D) -9

(10) Real partof 2ab(i + i*) is . - S 2ab(i+ )  (10)
(A) 2ab (B) —2abi (C) 2abi (D) —2ab

(11) The relation ¥ = log, x implies:- s y=log,x S (1)
M) =z B) 2’ =x ©) x' =y D) ¥y =x -

(12) @ =b" isequalto- wde T80 1
a=b (A (a-b) (B) (a+b) (€) (a+) (D) (a - b) a-b

(13) Factorsof 4a® ~16 are:- (el 4o’ ~16 (13)

(A) (2a - 4),(2a+4) (B) (2a-4) C)a(a +4),(a~4) (D) 4(a-4)

(14) __ will be added to complete the square of x* + 64 Lyt Liwd i =t + 64 (18)
(A) 8x’ (B) —8x” (C) 16x2 (D) 4x

(15) Solution setof |x —4|=~4 is- eV [x-4]=-4 (15
(A) Zero p (B) Empty set «xdb  (C) {0, 8 } D)8 &7
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PAPER CODE 2016 (S) A

NUMBER: 5196 SSC PART-l (9th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-II y;m.;,/’ (-.,,:/ ) L
TIME ALLOWED: 20 Minutes OBJECTIVE o:‘}/’,& w20 =
MAXIMUM MARKS: 15 15= AF

/"'4‘._. o L/L[/UWJUVL fi....—/»r;.JLJubZL.JaLzLJFr/fd{L}Lé’ U‘ZL.) D . CB:A ._JL'J",.«FAN_.J!V/ N
FZ wLJu'w/"ds(u _,;:-’J.;.L/ Bubbles _g’ﬂﬂ”blnf’iu{&u-.uv"g;d_.); Jo¥ L d_)/,,fus /!Juyc..-g =5
Note: You have four choices for each objective type guestion as A, B, C and D. _{,{xféd"};a-mf{.g,g._giy
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circies. Cutting or filling two or more circies will result in zero mark in that question. Attempt as
many gquestions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 = /',‘Ulf
(1) Point (=3, -3) lies in the quadrant:- < LUL (=3,=3) B (1)
(A) | (B) Il () 1l (D) IV
(2) Atriangle having all sides equal s called:- e S OISl pekl @)
(A) Isosceles oALIGL3 (B) Scalene LU  (C) Equilateral {20~ (D) None of these (2% Lty
(3) Inaright angled triangle, there canbe ___ right angles. - éra.su,., G uﬁbﬁ,;!)!,f‘e“ (3)
(A) 1 (B) 4 (C)3 (D)2
(4) Ifsum of two angles is 180", then these are called - -L,EZ-“;’;);J? 180° o b’ug;u::fi (4)
(A) Complementary angles & sLif &4 (B) Vertical angles &slifT
(C) Acute angle b (D) Supplementary angles d.;bdf ¥
(5) Any point on the bisector of an angleis etr e upnlysidy wt&_.,r)w (5)
from its arms. (A) Equidistant Wifst (B) Concurrent 5 f’
(C) Non-equidistant el (D) Non-concurrent Jsi¢%/#
(6) ____lines can be drawn through two points. -q;Z;Elg;if”L#" e bl (6)
(A) 3 (B) 2 (C) 4 (D) 1
(7) The ____ ofatriangle is the part of the plane -u_?i.tl‘f el e fé%ﬁq(b@rﬁérﬁdﬁ (7)
enclosed by the triangle.  (A) Interior 2s41  (B) Union J ¥ (C)Exterior sz (D) Altitude {61
(8) The ____altitudes of an Isosceles Triangle are congruent. ,Q‘i‘é_’.‘d&t’r"wr L L&.«lﬁu’ Viglr  (8)
(A) Three ¢f (B) Two » (C) Four J- (D) None of these Ul o
(9) Vﬁ 0 } is called matrix.- e bl 5 {‘5 0 } (9)
0 A2 b 0 2
(A) Zero (B) Unit Jtws (C) Scalar A° (D) Singular .t
(10) In /35, the radicandisi- , o kit 35 (10)
(A) 3 (B) 3 (C) 35 (D) 5
(11) loge=___ where e ~2.718 ~2718 £ loge=____ (11)
(A) 0 (B) 0.4343 (C) (D) 1
(12)(3++2) (3-2 ) is equal to:- -4l (34 V2) (3-+2) (12)
(A)7 (B) -7 (C) -1 (D) 1
(13) ___ will be added to complete the square of 9a> — 12ab Ly BpnL LGS 9a —12ab  (13)
(A) —165? (B) 1657 (C) — 4b? (D) 45
(14)HCFof @’ + b’ and a* — ab + blis- -g_(%w at—ab+ b yd+6 (14)
(A)a+b (B) a* ~ ab + b’ (C) (a - b)’ (D) a° + b
(15) If x isno larger than 10, then:- Snsre 1023 x S (15)
(A) x>8 (B) x <10 (C) x <10 (D) x > 10
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(2)

(i

4. Attempt any six parts. 12=2x6 e\ ling e O 44y
(i) Find x and m from the given Congruent L -ér'}*’caf u(m A x e LNO# LMO uff*gﬁ?ﬂ?(d) .
Triangles L MO andL NO. '
2x + 6 18
MA [1]] N
m O 12

Feobe s gulidStslets £7.4 F4 3

(i)~ 3cm, 4ocm and 7cm  are not the lengths of the triangle. ~ Give the reason.

(if)  Define Ratio. Whatis its Unit? e b e
(iv)  Define Similar Triangles with its Symbol. ..ﬁgcfiimihéj Pl

_UEUQL,JJCLL&[&&:;I)‘I;}G c=25cm 5  b=2cm ¢ a=15cm fijﬁ

(il

(i)
(iv)
v)

(v)  Verify that the following lengths are the sides of the right angled triangle. @ = 1.5¢cm, b =2em, ¢ =2.5em

S 4 ¢3S sl it
(vij 3cm and 4cm are two sides of a right angled triangle then find Hypothenuse.

(vii)  Find the area. 8cm -g’g{}”jj
ASEA

(viil)  Construct a A4BC If mAB =32 cm, mBC=42cm, mCA=52cm Jiet, ABC &k

(ix)  What is meant by Perpendicular Bisector of a Line Segment? Sl e il

SECTION-Il /5.0

(vi)

(vii)

(vii)
{ix)

24=8x3 il Oy Efelpl et (L

NOTE: - Attempt any three questions. Question No.9 is compulsory.

5.(A) Use Cramer's Rule to solve the Equations. 2x — 2y =4,  ~5x -2y =-10 & feufuil £/
, 2 ! 2 1
3 ’ 2 3 W
(8) Simpliy, ‘j(zm) ko) /(216) BT A
(0.04)2 \1 (0.04)2
6.(A) Use logarithm to find the value of - Y2709 x 1239 BT PN
(B)  Find the Value of | 125x" — L) if Bk -ln) =6 ﬁ.—_".-'»(r';l-”c.x:b( (125363 s gt 3 )
125x° J 5x & W L 125x°
7.(A) Factorize. 5x*+ 33xy — 14y? 5x*+ 33xy ~ 14)° 'édj
(B) Find the Square Root by Division Method. S e KR nt
4 +25x* —12x — 24x%* + 16x*

8.{A) Solve the given equation. 2 __

(B) Construct APQR . Draw their altitudes and -Q?iﬁ"ﬁuf a{ J ﬁ;ﬂ;}jﬁ&@ﬂ)%ﬁufu{h POR &4

show that it is concurrent. mPQ =45cm, mQOR =39cm, msR =45"

9. Any point equidistant from the end H 5&{&%6»’&9‘,&3&1»?&.@ Bigsbre s Ll 15,0895 .E’Jngfi
points of a line segment is on the right bisector of it

R |

Triangles on the same base and of the same -J Ut o s asun/.'/.CLabléuwwg i;/?ww..@ﬁu?} &l
(i.e., equal) altitudes are equal in area.
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2016 (S) A

SSC PART- (9th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP-I y,;w.,,,;// () )
TIME ALLOWED: 2.10 Hours SUBJECTIVE _:¢ 210 = &
MAXIMUM MARKS: 60 60 = A
NOTE: - Write same question number _z..LuV!.z_./,J!r,G’Z sz A Fr&{géﬁ}lﬂ Oy,

and its part number on answer book, as given in the question paper.

SECTION- .o

2. Attempt any six parts. 12=2x6 -ci//utlﬁ.ﬁl/lf:.,ds _2/de
, 47 12 12 ‘
() Find the product of-- L g Z}H ?]‘ U : zﬂ_? ?]i,«é(ﬁf-_,/d‘b ()

(i)  Define Rectangular Matrix and give example. _é;u‘{JL}"wé .’ /;"JJGL,‘W (i)
U'acdbf'ua + bi S _iz é/‘:} s, 3i )% (i)

(i) Simplify (v'5 ~ 3i) * and write the answer in the form of & + bi

(iv)  Solve with the help of Laws of Exponents (el ) Lt S e ndlilied ()

in the simplest form (All exponents are positive) y—x—y— )
(v)  Whatis the difference between Common Logarithm and Natural Logarithm? ?‘Lg)g;,c/iﬁ bl (i}l@ru (v)

RPN 10622 )

(vi)

(vii)  Define Polynomial Expression. EAESY i

(viily ~ Simply Eﬂf%i_z_lgx;ﬂ 3 si 13;:; 27 o8 i
5x° - _

,&,ignb'/f:}:*_, (x-3) {9x? —6x +2 J“é*l")h”dl-c.&.lﬁ*’ (ix)

(ix)  Find the Remainder by using Remainder Theorem when 9x? - 6x + 2 is divided by ( x —3)

3. Attempt any six parts. 12=2x6 iég;;-gfﬁilzfggc,df 34y
: - a+b  a’ —ab - 5 .
W el a b @ ~2ab+ b ';ﬁ; 0
(i) Solve. \Jx-3 -7=0 Jx=3 -7=0 &F i)
(i) Define Radical Equation. et i)
(iv)  Draw the following points on the graph paper:- (=3,~3)(-6,4) -.é} UJ{, g:-.jif}ltédn’j@» (V)
(vy  Drawthe graphof x = - 6 x = -6 -é,‘.l.'»...if)ﬁ (V)
(vij  Define Rectangle. 4‘1«1 /’Ju (vi)

-:q, % AB bﬁ’férﬁ”,&wlmf B{~-L Buwd(2 5 biss  ({vii)
{vii)  Find the mid-point of the line segment joining 4 (2,5) and B (-1, 1)

(i) Whatdoyoumeanby H.S = H.S postulate? Sl ot 85 = L0 i)
(ix)  Define Parallelogram. _éhgﬁdﬁwﬂidﬁ? (ix)

(ZJ_J L}J})
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(2)

4. Attempt any six parts. 12=2x6 .,;//../ ffélilic;df _4/Jfr
«,é;':i’”aé'd/ 2 Y xo P -« #¥ 4 i 4D Ui ABC _,J.aawj o’,ug@; 0
()~ The given triangle 4BC is an equilateral triangle A :

and 4D is bisector of an angle 4. R
Then find the unknown vaiues of / X
Y and z°. s/ [T ¢

D » : a &
(i) Define the Isosceles Triangle. ué -’ /’J&i‘?‘uf Vi (i)
(ii)  Define Proportion. S i
(iv)  Define Similar Triangles. s (v
(v)  Whatis meant by Converse of Pythagoras Theorem? fe sl /v(c;....af‘.;:’,l/uj v)
(vi)  Find the value of unknown x in the given figure. épL”JJ X ’}Vtu’ ﬁ){b (vi)
&cm 10cm
—

" . ¥ (4 " i
(vii)  Define the Area of a Figure. S }’o.g.;f.ﬁf( (vi)
(viii) Define Centroid of a Triangle. EAuil ek i)
(ix) Constructa A4BC ,inwhich Vel ABC &b (ix)

mAB =32¢cm, mBC = 42cm, mAC = 52¢cm

SECTION-l ru.o
| 24=8x3 < O g penl et 3 ud
NOTE: - Attempt any three questions. Question No.9 is compulsory.
5(A) Solve with the help of Cramer's rle.  2x — 2y =4, 3x+2y=6 -&efenfusil AN 9{5 (.5

£ Na+h i i+ o \Cta
(B) Prove that Lx—‘, ( 3—} X (ia— l =1 -é".(c,:b‘ ()
& \ x|/ \x )
6.(A) Find the value by using logarithm. (1.23) (0.6975) -L,,:/Up:;..u Lf(%é? ()6

(0.0075) (1278)

-u:/rr:"’f‘,([x‘—} i x_,i i X—2+\/—j (...«)

X

» Vs 1 2
(B) If x=2++/3 thenfind the value of ¥ and Lx—'—]

X X
7.(A) Factorize. (3% + 5% 4 4) (7 +5546)-3 EUE (T
(B) FindLCMbyFactorization.  2(x* - »*), 3(x’ + 2%y - m* = 25°) -ZPfobnigiag ()

8.(A) Find out the solution set of the following equation:- 3(%3—) —x=1- g -nyl’trf {..wszaﬂ ()-8

(B) Construct the foliowing A4BC -L,:/&)«‘;Ji.ﬂ.ﬁj‘ﬁg.UFJ}!'KJ‘L'{UQ"}ULJI S heds 4BC ()
Draw the bisectors of their angles and verify their concurrency.
mCA =52cm, mBC =6cm, mAB =4.2cm
9. Prove that the bisectors of the three angles of a triangle are -gaﬁﬁﬁycéuwuﬁiwu’ﬂ’q/m 3
concurrent. OR |
Prove that the triangles on the same _,f L;;:,:i/.ufj,ras?unc%*ﬁﬂiuu;fuﬁg f;{aﬁﬁgﬁ.{!ﬁﬁj‘é’ﬁf] e
base and of same altitude are equal in area.
29(SCIENCE GROUP)-2016(S)-1500 (MULTAN)
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2016 (S) gy

SSC PART-I (9th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP- o) (o s
TIMEALLOWED. 210 Hours SUBJECTIVE _ilo 210 = =
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number -x.:.(_,uu’z_/.ﬂm:’é u»/shs/‘;}imﬁs/dww L

and its part number on answer book, as given in the question paper.
SECTION-l Ji.o
2. Attempt any six parts. 12=2x6 ifﬁ_«t Ty "'m”’:‘.dﬁ 24
0
__é!f}‘”AB?:f B= [2} MA = { 1 2}/’ (i)

2 s |
(i)  Findthe value of 48 when 4 = L ‘; ﬂ and B = { 0]

5

L
(i) Write the names of techniques to solve a Simultaneous Equations. ,éjrt(uﬁ.. }’Li.)f)’fu?isv A (i)
iy  Simplfy. 5+ (52y . sty -2 i)
(V) Simplfy. 4fg1, x® 8y ot -8 (W)
(v)  Whatis meant by Antllogarithm? eI Ae (B W)
(vi)  Write in the form of Single Logarithm. log5 +/log6 — Y082 -~:—”g AH L;(%J why (Vi)
(vii)  Define Polynomial. AR i)
(viii)  Perform the indicated operation and simplify 1 & ix = i - :‘;x -u;/ﬁ“'fuz.fj:‘w’ fcﬁ..; (viii)

=Ex + 4X
(ix)  Factorize. 3x? — 757 3x’ - 75y éo’ ; (ix)
3. Attempt any six parts. 12=2x6 E feln LIl e 34y
() DefneHCF Lo )
(i)~ Solve the equation. (353 720 Px—3-7=0 NY9/9/ O VRN ()
(i)  Find the solution set of - | 3x - 5‘ el |3x - 5|=4 -‘j_j.fr';""dfrd" (i)
(iv) Define Cartesian Plane. EK W)

_ér}’”ﬂu‘/ ¢ som LoUfy=m+c f3-2x+y=0 .‘;UVJ)?U'J (v)
(v) Findthevaluesof m and ¢ oftheline 3 - 2x + y = 0 byexpressing itinthe form y =mx +¢
(vi)  Find the distance between the points 4(-8,1), B(6,1) -g{z}#psuwiﬂ-s, 1). B(6, )56 (vi)
e S Ll A, -11), B(3,-4) 4§ (vi)
(vi)  Find the mid-point of the line segment joining pair of points 4(3, ~11), B(3,-4)
(vill) What is meant by Congruency of Triangles? fe s pY / ek w/url” (viii)
s mo xS ABCDSit Bz r ()
(ix) Ifthe given figure 4BCD is a parallelogram. Find the valuesof x and m .
D o

{Sm 4+ 10)°

550
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